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QUESTION 1

Which component of VMware Horizon acts as a broker for client connections, providing authentication to users and
directing incoming desktop requests from users to View virtualized desktops? 

A. View Client 

B. View Administrator 

C. View Composer 

D. View Connection Server 

Correct Answer: D 

 

QUESTION 2

How does Software-Defined Data Center (SDDC) facilitate easy provisioning and management of the underlying
physical resources? 

A. Organizes physical resources into logical pools. 

B. Calculate the number of users. 

C. Organizes physical resources into clusters 

D. Uses predetermined policies and rules. 

Correct Answer: A 

 

QUESTION 3

What are two advantages of embedding the security functions in the hypervisor? (Choose two.) 

A. Manages security posture of workloads at scale. 

B. Enables high throughput rates. 

C. Secure East-West traffic between each single virtual machine. 

D. Avoids hairpinning of resources. 

Correct Answer: AC 

 

QUESTION 4

What is the total volume of traffic per Distributed Logical Router (DLR) that issupported by the Equal Cost Multipath
(ECMP) model? 
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A. 20GB 

B. 50 GB 

C. 80 GB 

D. 40 GB 

Correct Answer: A 

 

QUESTION 5

How do virtual networks support physical infra structure Quality of Service (QoS)? 

A. By receiving the help of the NSX gateway 

B. By marking the packets in the encapsulated header. 

C. By employing East-West traffic. 

D. By restricting the access of VLANs to specific pods 

Correct Answer: B 
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